
C56W
056000251

BANCO DI LAVORO
ISTRUZIONI DI MONTAGGIO

(WORK BENCH, ASSEMBLY INSTUCTIONS)

A) DADO M8
 (NUT M8)
 (44 PCS)

B) VITE M8x40
 (SCREW M8x40)
 (8 PCS)

C) VITE M8x80
 (SCREW M8x80)
 (12 PCS)

D) VITE M8x55
 (SCREW M8x55)
 (32 PCS)

H) CASSETTO
 (DRAWER)
 (2 PCS)

G) GUIDE
 (SLIDES)
 (2 PCS) L) TRAVERSA

(CROSSBAR)
(3 PCS)

M) GAMBA
 (LEG)
 (6 PCS)

N) PIANO DI LAVORO
 (WORKTOP)
 (1 PCS)

056000252
056000253

1

F) TRAVERSA
 (CROSSBAR)
 (2 PCS)

BETA UTENSILI S.p.A.
Via Alessandro Volta,18
20845 SOVICO (MB) ITALY
Tel.  + 39.039.2077.1
Fax. + 39.039.2010742
www.beta-tools.com
e-mail: info@beta-tools.com

P) RIPIANO
 (SHELF)
 (1 PCS)

Q) COPERTURA
 (FRONT COVER)
 (1 PCS)



2

1

2

A)

D)

D)

A)

P)

M)

M)



F)

F)

L)

G)

3

A)

B)

3

4

C)

D)

A)

Q)



N)

4

BLOCCA/SBLOCCA
(LOCK/UNLOCK)

H)

D)

5




